JB Academy, Ayodhya
ANNUAL EXAM 2023-24
Class Xl History

Time 3 hrs MM - 80

General Instructions:

1.

Question paper comprises five Sections — A, B, C, D and E. There are 34 questions in the
guestion paper. All questions are compulsory.

Section A —Question 1 to 21 are MCQs of 1 mark each.

Section B — Question no. 22 to 27 is Short Answer Type Question, carrying 3 marks each.
Answer to each question should not exceed 60-80 words

Section C — Question no 28 to 30 are Long Answer Type Questions, carrying 8 marks

each. Answer to each question should not exceed 300-350 words

Section D — Question no.31 to 33 are Source based questions with three sub questions
and are of 4 marks each

Section E — Question no. 34 is Map based, carrying 5 marks that includes the identification and
location of significant test items. Attach the map with the answer book.
There is no overall choice in the question paper. However, an internal choice has been
Provided in few questions. Only one of the choices in such questions has to be attempted.

8. In addition to this, separate instructions are given with each section and question, wherever
necessary.
Section - A
Answer the following (1x21=21)
1 The word Shimar is mentioned in

2.

3

1]Pp

A Book of Genesis.

B The first Mesopotamian tablet discovered.

C The first Seal discovered at Mesopotamian site.
D The Geniza records.

Identify the False statement/s

A Writing was seen as a sign of superiority in Mesopotamia

B The earliest known shrine in Mesopotamia was small, made up of baked bricks
C Mesopotamians offered fish bones to God

D Uruk was a city par excellence often known as The City.

)AB ) BC
i) CD IV) AD
Arrange the following in chronological order.
A Second oil crisis. B Gwangju Democratisation movement.
C The New Village movement. D June Democracy movement.
ICBAD IBCDA
NMCABD IVBACD

P.T.O.
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4 The earliest inhabitants of North America came from Asia on a land-bridge across

A Sierra Nevada mountains B  Mississippi river
C Bering Straits D Rocky Mountains
5. Assertion — The villages were periodically relocated in Mesopotamian history.
Reason — The natural outlet channels of Tigris would have too much water one year and
flood the crops.
A Both A and R are true and R is the correct explanation of A.
B Both A and R are true and R is not the correct explanation of A.
C Both A and R are False.
D Ais True but R is False.
6. Arrange the following in the chronological order and mark the correct option.
A Diocletian reorganises empire into 100 provinces.
B Principate founded by the Octavian.
C Creation of second capital at Constantinople.
D Justinian recaptures Africa from Vandals.
I ABCD I BCDA
I ADCB IVBACD

7. Identify the person on the basis of description given below.
A He came from South of Spain.

B He recommended that land owner should keep a reserve stock of implements and
tools.

C He gave much importance to management of labour.
D He believed that loss in slave labour- time exceeds the cost of production.

| Pliny IT Columella
IIT Augustine IV Tacitus

8. Identify the person on the basis of description given below.
A He ruled over Iran.
B He was descendant of Toluy.
C He warned others to avoid pillaging the peasantry.
D Rashiduddin was his wazir.

I Qubilai Khan Il Genghis Khan
Il Ghazan Khan IV Mongke

9 Identify the true statement/s.
A Qubilai Khan, a distant descendant of Jochi performed his holiday prayers at Bukhara.
B Rashiduddin considered himself as son -in law of Genghis Khanid family.
C Mongols practiced different faiths including Jainism.
D Yasa was the Code of law of Genghis Khan.
|l ABD IIAC
[l Only A IV Only D

10. Assertion: King Charles | called the parliament.
Reason- A section of parliament decided to go to war against him. P.T.O.
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A Both A and R are true and R is the correct explanation of A

B Both A and R are true and R is not the correct explanation of A
C Both A and R are False

D Ais True but R is False

11. Match the columns, choose the correct option

A B

1 Estates General (i) Harming old feudal relations
2. Money Economy (i) Rise of Surplus and Trade

3 Bubonic plague (iii) Led to shortage of labour

4 Fourth order (iv) Revolt against King Charles |
A 1(iv) 2 (iii) 3 (i) 4 (ii)

B 1 (ii) 2(iv) 3 (i) 4 (iii)

C 1 (iii) 2 (i) 3(i)  4(iv)

D1 (iv) 2 (i) 3 (i) 4 (i)

12. Arrange the following in the chronological order of their occurrence.
A. Peasants’ revolt.
B. Black Death.
C. Duke of Normandy crossed English Channel with an army.
D Labour force demanded twice their earlier wages.
ICBAD IBCDA
IMCABD IVBACD

13. Assertion: Clergy began to sell ‘indulgences’ documents.
Reason: Christians came to realise that the Bible permitted such practices.
A) Assertion is true and the reason is false.
B) Assertion is false and reason is true.
C) Both assertion and reason are true.
D) Both assertion and reason are false.

14. Assertion A: Legal studies were the chief subject in the earliest Universities.

Reason R: The term 'Humanities' was used for the first by Cicero.
A AandRis correct and R is the correct explanation for A.
B Both A and R is correct but R is not the correct explanation for A.
CA s correct and Ris incorrect.
D Ris correct and A is incorrect

15 1. He was given the title of Poet Laureate in Rome.
2 He stressed on the importance of close reading of ancient authors.
3 His hometown was Florence.
Identify the person.
| Dante Il Petrarch
Il Giovanni IV Giotto
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Choose one correct option.

16 Arrange the following in the chronological order.
A Lecture on ‘Great Australian Silence’
B James Cook reaches Botany Bay.
C Arrival of Multiculturalism in Australia.
D Terra Nullius declared as legally invalid.

1BACD IBCAD
INBADC IVBCDA
17 In which year did the first opium war take place?
| 1836-44 Il 1829-32
Il 1826-34 IV 1839-42

18). Assertion: Full diplomatic relations and embassies are possible in Taiwan.
Reason: Taiwan is considered to be a part of China.
A. AandRis correct and R is the correct explanation for A.
B. Both A and R is correct but R is not the correct explanation for A.
C. Aiscorrect and Ris incorrect.
D. Ris correct and A is incorrect.

19) Assertion A: Tanaka Shozo launched agitation against industrial pollution in China.
Reason R: The rapid and unregulated growth of industry led to environmental
Destruction in China.
Both A and R is true and R is the correct explanation of A.
Both A and R is true but R is NOT the correct explanation of A.
A'is true but R is false.
Both A and R is false

on >

20) Arrange the following in their order of occurrence.
A. Winds of change in Australia.
B. Cherokees evicted from their home land.
C. Completion of USA’s railways.
D American Gold Rush.

) A C B D
) B D C A
) A C D B
IV)B D A C

21 Find the false statement/s:

A. Alaska is a part of Canada.

B. New South Wales is a state in Australia

C. The experiment of settling Brazil with Portuguese convicts was abandoned.

D. Thirteen Colonies were French colonies

1) ABC

2) AD

3) AB

4) BC P.T.O.
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Section - B

Answer the following in 60-80 words. (3x6=18)

22). Mesopotamian achievements were not possible without contribution of students. Explain
the role of students. (In points)
23.1) The manor could not be completely self-sufficient. Explain the statement in points.
OR
23.2) ‘The religious and feudal worlds shared many customs and symbols ‘explain in points.
24.1) Which Christian notions were rejected by Copernicus in his manuscript, De-
revolutionibus?
OR
24.2) How did knowledge of science and mathematics support the Italian Artists in producing
realistic sculptures and pictures?
25) Mention the three principles of Sun-Yet-Sen.
26) What were the 2 different reasons for rise of factory in England and North America?
27) What were the reasons behind growth of civil society movements in Japan?

Section - C

Answer the following long questions in not more than 350 words. (8x3=24)

28) a) The emperor, the aristocracy and the army were the three main pillars in the political
History of Roman Empire. Explain.
OR
b) Describe the Social hierarchies of the Roman Empire and also explain how Roman law
could contain the various forms of corruption of bureaucracy.
29) a) Genghis Khan’s military organisation was a complicated composition. In light of the
above statement, explain military organisation of Mongols.
OR
b) ‘Once the dust from the Mongol campaigns had settled, Europe and China were
territorially linked’. Elucidate.

30) a) ‘Winds of change swept the American continent AD 1920 onwards. Analyse the
statement by comparing the treatment given to the native people of America, before
and after AD 1920.
OR
b) ‘Enormous steps were taken by Meiji Government for rapid growth and development of
Japan’. Elucidate.
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Section - D
Answer the following passage-based questions (4x3=12)

31) Excavating Mesopotamian Towns

Take the small town at Abu Salabikh about 10 hectares in area in 2500 BCE with a population less than
10,000. A few houses that were discovered were excavated. The archaeologists sieved through tons of
earth to recover plant and animal remains and, in the process, identified many species of plants and
animals and found large quantities of charred fish bones that had been swept out on to the streets. Plant
seeds and fibre remained after dung cakes had been burned as fuel and thus kitchens were identified.
Living rooms were those with fewer traces. Because they found the teeth of very young pigs on the
streets, archaeologists concluded that pigs must have roamed freely here as in any other Mesopotamian
town. In fact, one house burial contained pig bones — the dead person must have been given some pork
for his nourishment the afterlife! The archaeologists also made microscopic studies of room floors to

which rooms in a house were roofed (with poplar logs, palm leaves, straw, etc.) which were open to the

sky.

31.1) How did the archaeologists identify kitchen? (1)
31.2) How Mesopotamians would have used pigs? (1)
31.3) How do archaeologists discover past? (2)

32) In the twelfth century, Abbess Hildegard of Bingen wrote:” Who would think of herding his entire
cattle in one stable - cows, donkeys, sheep, goats, without difference? Therefore, it is necessary to
establish difference among human beings, so that they do not destroy each other ... God makes
distinctions among his flock, in heaven as on earth. All are loved by him, yet there is no equality
among them."
32.1) Abbess Hildegard belonged to which Order of European society? (1)
32.2) Which ritual did Abbess Hildegard contribute to church? (1)
32.3) What justification is given by Abbess Hildegard for the existent inequality

among humans? (2)
33) William Tyndale (1494-1536), an English Lutheran translated the Bible into English in 1506, this

defended his views:
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'In this they be all agreed, to drive you from the knowledge of the scripture, and that ye shall not have

the text thereof in the mother-tongue, and to keep the world still in darkness, to the intent they might

sit in the consciences of the people, through vain superstition and false doctrine, to satisfy their proud

ambition, and insatiable covetousness, and to exalt their own honour above king and emperor, yea,

and above God himself ... Which thing only moved me to translate the New Testament. Because | had

perceived by experience, how that it was impossible to establish the lay-people in any truth, except

the scripture were plainly laid before their eyes in their mother-tongue, that they might see the

process, order, and meaning of the text.

(33.1) William Tyndale was a catholic, True or False?

(33.2) What led to the translation of New Testament?

(33.3) Why did William Tyndale translate Bible?

Section - E

34) Name and locate the places marked in the given map.

A. The 1964 Olympics were held here.

B. Name the island marked.

Mark and name the given places in the map provided.
C Chiang Kai Shek fled to this place in 1949
D The place where Joseon dynasty ruled.

E The motherland of philosopher Liang Qichao
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